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Course Code: CPE7023 and Course Name: Image Processing
Time: 1 hour                                                                                                                           Max. Marks: 50
============================================================================= 
Note to the students:- All the Questions are compulsory and carry equal marks .      
	Q1. 
	Which of the following color attribute that describes pure color?

	Option A:
	Hue

	Option B:
	Saturation

	Option C:
	Brightness

	Option D: 
	Intensity

	
	

	Q2.
	Which of the following gives the measure of the degree to which pure color is diluted by white color?

	Option A:
	Hue

	Option B:
	Intensity

	Option C:
	Saturation

	Option D:
	Brightness

	
	

	Q3.
	In the range of the values from gray scale, value 255 represents which of the following color

	Option A:
	Black

	Option B:
	white

	Option C:
	Shade in between black and white

	Option D:
	Not any specific colour

	
	

	Q4.
	After applying digital negative transformation to 125 value, after processing the value becomes

	Option A:
	240

	Option B:
	0

	Option C:
	130

	Option D:
	255

	
	

	Q5.
	Intensity of each pixel in gray scale image is composed of

	Option A:
	16 bit

	Option B:
	8 bit

	Option C:
	32 bit

	Option D: 
	20 bit

	
	

	Q6.
	The histogram of a digital image with gray levels in the range [0, L-1] is represented by a discrete function

	Option A:
	h(rk)=n/nk

	Option B:
	P(rk)=nk

	Option C:
	p(rk)=n/nk

	Option D: 
	h(rk)=nk

	
	

	Q7. 
	In a light image, the components of histogram are concentrated on which side of the grey scale?

	Option A:
	Low

	Option B:
	High

	Option C:
	Medium

	Option D: 
	Evenly distributed

	
	

	Q8. 
	Low pass filter produces

	Option A:
	Sharp image

	Option B:
	Blur image

	Option C:
	Colour images 

	Option D: 
	Black images

	
	

	Q9.
	Which of the following fact is true about image?

	Option A:
	An image is the multiplication of illumination and reflectance component

	Option B:
	An image is the subtraction of reflectance component from illumination component

	Option C:
	An image is the subtraction of illumination component from reflectance component

	Option D: 
	An image is the addition of illumination and reflectance component

	
	

	Q10. 
	Which of the following is not performed in edge detection

	Option A:
	Image smoothing for noise reduction

	Option B:
	Detection of edge points

	Option C:
	Edge localization

	Option D: 
	Detection of boundaries and shapes 

	
	

	Q11. 
	for coordinates p(3,2), the 4 neighbors of pixel p are-

	Option A:
	(3,3)(2,3)(1,3)(1,3)

	Option B:
	(3,3)(2,3)(1,1)(2,2)

	Option C:
	(3,3)(2,4)(1,3)(2,2)

	Option D: 
	(3,3)(4,2)(3,1)(2,2)

	
	

	Q12. 
	The mask shown in the figure below belongs to which type of filter?
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	Option A:
	Sharpening filter

	Option B:
	Median   filter

	Option C:
	Min filter

	Option D:
	Smoothing spatial filter

	
	

	Q13.
	Following is the set of connected pixel that lie on boundary between two regions

	Option A:
	Point

	Option B:
	Line

	Option C:
	Edge

	Option D: 
	color

	
	

	Q14. 
	Which of the following is used to growing region as start pixel

	Option A:
	Original pixel

	Option B:
	Seed pixel

	Option C:
	Base pixel

	Option D: 
	Start pixel

	
	

	Q15.
	Using this partition of digital image into several regions is done

	Option A:
	Merging

	Option B:
	Splitting

	Option C:
	Dividing

	Option D: 
	transform

	
	

	Q16. 
	The first difference of smallest magnitude is _______,based on 4-directional code

	Option A:
	Chain number

	Option B:
	Difference number

	Option C:
	Shape number

	Option D: 
	Difference 

	
	

	Q17.
	In image enhancement, which operation is used to modify pixel value according to value of pixels neighbor

	Option A:
	Point operation

	Option B:
	Mask operation

	Option C:
	Local operation

	Option D:
	Global operation

	
	

	Q18.
	Total no of colors in RGB color mode1

	Option A:
	16,777,216

	Option B:
	16,777,512

	Option C:
	15,777,216

	Option D: 
	17,777,216

	
	

	Q19. 
	Following formula denotes



	Option A:
	Thinning 

	Option B:
	Boundary extraction

	Option C:
	Thickening 

	Option D: 
	Region filling

	
	

	Q20.
	In following transformation structuring elements associated with object and structuring element associated with background is used

	Option A:
	Hit-or-miss transformation

	Option B:
	Digital negative

	Option C:
	Fourier transform

	Option D:
	Thresholding

	
	

	Q21.
	Which of the following is not lossless compression technique

	Option A:
	Run length coding

	Option B:
	Arithmetic coding

	Option C:
	JPEG

	Option D: 
	Huffman coding

	
	

	Q22. 
	Assume that we wish to transmit the set of  28 data points (1,1,1,1,1,1,1,2,2,2,2,2,2,3,3,3,3,3,4,4,4,4,5,5,5,6,6,7) what is Huffman code of 5

	Option A:
	111

	Option B:
	110

	Option C:
	011

	Option D: 
	0101

	
	

	Q23.
	Chain code works best with

	Option A:
	Color image

	Option B:
	Gray scale image

	Option C:
	Binary image

	Option D: 
	All of above

	
	

	Q24. 
	Which of the following technique of compression takes a stream of input symbols and replaces it with single point floating point number

	Option A:
	Huffman coding

	Option B:
	Arithmetic coding

	Option C:
	Run length coding

	Option D: 
	IGS quantization

	
	

	Q25.
	Compute Hadamard transform for {1,2,0,3}, the result will be

	Option A:
	[6 0 4 2]

	Option B:
	[6 -4 0 2]

	Option C:
	[6 0 -4 2]

	Option D: 
	[0 6 4 2]
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